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s

1 s[lif ljsf; sfo{qmd - v';f{gL, t/e'hf OToflb_ j*f g+= 1,lrt'{·wf/f 300000.00
2 kz' ljsf; sfo{qmd - g:n ;'wf/ _ j*f g+= 1,lrt'{·wf/f 200000.00

hDdf 500000.00
v

1 :yfg hfgsf/L xf]l*· af]*{ j*f g+= 1,lrt'{·wf/f 150000.00
2 Jof* ldG^g se*{ xn j*f g+= 1,lrt'{·wf/f 250000.00
3 lem+u'*L vfg]kfgL d"n ;+/If)f - lrnf·bL _ j*f g+= 1,lrt'{·wf/f 100000.00
4 rgf}̂ ] s'nf] dd{t j*f g+= 1,lrt'{·wf/f 250000.00
5 l;v/ ;]]jn] elnan u|fp)* ;'wf/ j*f g+= 1,lrt'{·wf/f 100000.00
6 l;d'^f/L s'nf] dd{t j*f g+= 1,lrt'{·wf/f 150000.00
7 j]N^f/L s'nf] :t/f]GgtL j*f g+= 1,lrt'{·wf/f 250000.00
8 l;Dn] s'nf] dd{t j*f g+= 1,lrt'{·wf/f 150000.00

hDdf M 1400000.00
u

1 dlxnf sfo{qmd j*f g+= 1lrt'{ªwf/f 50000.00
2 cflbjf;L hghftL sfo{qmd j*f g+= 1lrt'{ªwf/f 50000.00
3 ckf· k'g:yf{gf sfo{qmd j*f g+= 1lrt'{ªwf/f 50000.00
4 blnt pTyfg sfo{qmd j*f g+= 1lrt'{ªwf/f 50000.00
5 h]i& gful/s sfo{qmd j*f g+= 1lrt'{ªwf/f 50000.00
6 afnaflnsf sfo{qmd tkm{ j*f g+= 1lrt'{ªwf/f 50000.00
7 o'jf nlIft v]ns'b sfo{qmd j*f g+= 1lrt'{ªwf/f 100000.00

hDdf M 400000.00

1 lrnf·bL r)*L:yfg dlGb/ lgdf{)f j*f g+= 1lrt'{ªwf/f 100000.00
2 ;f]d}wf/f lsl/ofk'qL ^«; lgdf{)f j*f g+= 1lrt'{ªwf/f 100000.00
3 lzjfno dlGb/ kvf{n lgdf{)f j*f g+= 1lrt'{ªwf/f 100000.00

hDdf M 300000.00
s'n hDdf 2100000.00

u

1 #f]/aGbf vNn'swf/f af^f] (nfO{ j*f g+= 1,lrt'{ªwf/f 150000.00
2 sfkmn^'· s^x/^f]n *f“*f^f]n df]=af=dd{t j*f g+= 1,lrt'{ªwf/f 300000.00
3 lr(Lof/ b]lv hglk|o k|f=lj=;Dd af^f] :t/f]GgtL j*f g+= 1,lrt'{ªwf/f 200000.00
4 uf];{t df]=af= u|fa]n tyf kvf{n lgdf{)f j*f g+= 1,lrt'{ªwf/f 200000.00
5 &"nfrf}/ e]^*f“*f lra]cf“ af^f] u|fa]n j*f g+= 1,lrt'{ªwf/f 100000.00
6 /]:dLyf]s b]lv jef{ df]=af=:t/f]GgtL j*f g+= 1,lrt'{ªwf/f 500000.00
7 s'dfn ufp“ hfg] df]=af= (nfO{ j*f g+= 1,lrt'{ªwf/f 200000.00
8 ;+bfk b]lv e^\]vf]nf d=f]af] :t/f]GgtL j*f g+= 1,lrt'{ªwf/f 200000.00

k"jf{wf/ ljsf; If]q tk{m M

augf;sfnL ufp“kflnsf
1 g+= j*f sfof{no lrt'{·wf/f, kfNkf

nlIft ju{ tkm{ 

cf= j= @)&&÷&* sf nflu j8f ;ldltaf6 kfl/t eO{ ufp“ sfo{kflnsfdf k]z ePsf of]hgf÷sfo{qmdx?

cfly{s ljsf; If]q tk{m M

;fdflhs ljsf; If]q tk{m M

wfld{s tyf ;f“:s[lts tkm{M
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9 l;/vf]nf a]ne~Hof· df]=af= lgdf{)f j*f g+= 1,lrt'{ªwf/f 100000.00
10 l;v/ l/kfxf wf]jfbL df]=af= dd{t j*f g+= 1,lrt'{ªwf/f 150000.00
11 aiff{ofddf lju|]sf] af^f] dd{t j*f g+= 1,lrt'{ªwf/f 300000.00
12 £ofª\+l;+*f“*f &f*f] af^f] -/]ln· ;lxt l;(L_ lgdf{)f j*f g+= 1,lrt'{ªwf/f 150000.00
13 chf{·bL augf; df]=af= :t/f]GgtL j*f g+= 1,lrt'{ªwf/f 200000.00

s'n hDdf 2750000.00
#

1 u|fDo df=lj= hfg] af^f] ;'wf/ j*f g+= 1lrt'{ªwf/f 400000.00
2 hglk|o k|f=lj= dd{t - em\ofn(f]sf _ j*f g+= 1lrt'{ªwf/f 150000.00
3 :jf:Yo rf}sL ejg dd{t j*f g+= 1lrt'{ªwf/f 100000.00
4 j*f sfof{no Joj:yfkg j*f g+= 1lrt'{ªwf/f 100000.00
5 sflnsf / hghfu[tL dlxnf ejg dd{t j*f g+= 1lrt'{ªwf/f 300000.00
6 a/^f/L k|ltIffno / uf];{t k':tsfnonfO{ kmlg{r/ vl/b j*f g+= 1lrt'{ªwf/f 100000.00

hDdf 1150000.00
s'n hDdf 6500000.00

k|b]zdf dfu ug]{ of]hgfx?

s_ a]ne~Hof· d]o/bL ufa'^'· df]=af= lgdf{)f      5000000.00
v_ ufa'^'· l;dn] emf“ ]̂vs{ df]=af= lgdf{)f         5000000.00
ufp“kflnsfdf dfu ug]{ of]hgfx? M

s_ dfr{ ;^fs s[lif ;*s   2500000.00

;+:yfut ljsf; tk{m M


